3.
cC oSS T SEC
;
Usmm mmom oo
( )
1 N
20 mL
N, H, 40 mL, 20 mL O, H,
0, 15 mL(
) o .
N, H, 40 mL, 20 mL
0, N, H,.0, 60 mL H, O,
15 mL 45 mL
2H, + 0, =—=2H,0 30 mLH,.15 mL
0, 0,5 mL.N, 10 mL. 20 mL
10 mL N, 30mLH,
N.H,
2N H, ==N, +3H,
x=1y=3

NH,
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2
20.0 g
1.22 g/em’ o
1o
/mL /g
1 20.0 16.0
2 20.0 12.0
3 20.0 8.0
4 20.0 8.0
(1)10.0 g .
(2) o
(1)
1 &g
=88 1009 =40% .
20g
10 g =10 x40% =4 g.
(2) (1)
40%

1 -40% =60%
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. 10%

o

3 12.60 g 4 NaCl. Na, CO,
100.5 ¢ o 16 g

(m) (

200.0 g.
2NaHCO, + H,S0, —
Na,SO, +2H,0 +2C0, 1

122.2 146.1 170.0 193.9 218.9

/g
_____ Lo '
A (1) Na,CO, .
HE (2
01 23 45 /s o (
] 0.1)
o, :
(n (122.2 g+25 g-146.1 g) x4=4.4 ¢
Na, CO, x
(2) - Na,CO, +2HCl =—=2NaCl + €O, T +H,0
o 106 117 44
(3) - x y 4.4 ¢
” 106 _ « 117 _ y
' 44 449 44 4.4 g
(1)4 s x=10.6 g y=11.7 g Na, CO,
(2)6.6 ¢ 10.6 g NaCl 11.7 g
(3) ’“ 25 gx4+16 g-4.4 ¢
2NaHCO, + H,S0, 1116 g ,
Na,80, +2H,0+2C0, T 160 106 g+11.7 g=17.1 ¢
142 88 171 4
. 6.6 1116 g X100% ~15.3% .
142 : Na, CO, 10.6 g
88 6.6g 15.3% .
x=10.65 g
m(Na,S0, ) =12.60 g+100.5 ¢-6.6 g
=106.5 g

w( Na,S0,) =(10.65 g/106.5 g) x100%
=10% ( 12015 -07 - 15)



